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Question Number : 1 Question Id : 7715134376 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fafaigd Ieiesol § foud gR SWiE ided (o) R dRdidd Wided (s) & § @
Gay fear w8, Wl dgeE APl (c) g

The relationship between engineering stress (o) and true stress (s) is given by which of the
following equations where logarithmic strain is (€):

) s=aexp(e)
) s=a exp(-g)
) s=aexp(etl)
) s=oexp(el)
Options :

1.a

2.b

3.cC

4.d

Question Number : 1 Question Id : 7715134376 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fafaied gl § foud gR1 SuiEd uided (o) R drdldd Wided (s) @ did @l
Tay fear T g, Wl agUian i () gl

The relationship between engineering stress (o) and true stress (s) is given by which of the
following equations where logarithmic strain is (g):

(a) s=oexp(e)
(b) s=aexp(-e)
() s=aexp(etl)
(d) s=oexp(e-l)

Options :

1.a

2.b

3.C

4.d

Question Number : 2 Question Id : 7715134377 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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HR RA B o G ol 9l 5, d I9@] AP GE DI T oidl o2

If the speed of a fluid doubles, what happens to its dynamic pressure?

(a) 99 T WA /Remains the same
(b) ST Bl Wl g/Doubles
(c) =R THT 8 al 8/Quadruples
(d) 3feEn 8l 9@ §/Halves
Options:
1.a
2.b
3.C
4.d

Question Number : 2 Question Id : 7715134377 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

HR Rd B o G 8l 9l 5, d I9D] TdBT alE S T 8idl a2

If the speed of a fluid doubles, what happens to its dynamic pressure?

(@) 9¥ g WAl §/Remains the same
(b) ST Bl WK g/Doubles
(c) =R TAT 8 &M@l 8/Quadruples
(d) e Bl a1 §/Halves
Options :
1.a
2.b
3.C
4.d

Question Number : 3 Question Id : 7715134378 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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T 3.5kW, 5 ofiex fdgga od due @I 2 Fe & o o foodr oram g1 o & dIg &
42kI/kgK Bl 98 91 9N & 9N fagqa el ofd &1 daiftd & § @ w8, 5l
U # o & auE ¥ gig ... B

A 3.5 kW, 5 litre electrical water heater is switched on for 2 minutes. The Heat capacity
(Cp) of water is 4.2 kJ/kg K. Assuming all the electrical energy has gone into heating the
water, increase of the water temperature in degree centigrade is;

(a) 15
(b) 25
(c) 30
(d) 20
Options :
1.a
2.b
3.C
4.d

Question Number : 3 Question Id : 7715134378 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

UF 3.5kW, 5 ofieX fdggd od aue @I 2 fFe & U o far o 81 o @1 dig &l

42kV/kgK &1 U8 9F1 9 {6 9RT fagyd Sl o & diftd & o oman o g, fel

U<e o 9d @ auaH § afg ... B

A 3.5 kW, § litre electrical water heater is switched on for 2 minutes. The Heat capacity
(Cp) of water is 4.2 kI/kg K. Assuming all the electrical energy has gone into heating the
water, increase of the water temperature in degree centigrade is;

(a) 15
(b) 25
(c) 30
(d) 20
Options :
1.a
2.b
3.c
4.d

Question Number : 4 Question Id : 7715134379 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Adbe oAl H AR e &1 IuahT &4 & T DR .. ... 8.

The primary reason to use regenerative cooling in rocket engines is:

(a) Ggd U Ugd dled I Ydaiud Bl
To preheat the propellant before combustion
(b) de @1 AR T W gH1 YRlT &
To ensure the nozzle remains at constant temperature
(c) G B qUl g @l S fahaar 4 adHl
To protect the combustion chamber and nozzle from thermal failure

(d) Aicdl & B 1 @ TG

To increase the exhaust velocity of the propellants

Options :
1.a
2.b
3.C
4.d

Question Number : 4 Question Id : 7715134379 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ube FoAl § AR Dae &1 SUarT &1 &1 =& SR .. ... 3.

The primary reason to use regenerative cooling in rocket engines is:

(a) @gd ¥ Ugd dlew @I Ydaiid &l
To preheat the propellant before combustion
(b) d @1 R dUHHE W BT JRET &A1
To ensure the nozzle remains at constant temperature
(c) @ D& qUl gs Bl Y fAhaar § adFl
To protect the combustion chamber and nozzle from thermal failure

(d) sl & FAHET a1 B g

To increase the exhaust velocity of the propellants

Options :
1.a
2.b
3.c
4.d

Question Number : 5 Question Id : 7715134380 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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f@R yaw ¥ fo7 srerHiiadr & U e ds

In an adiabatic nozzle with no irreversibility in steady-state flow:

(a) 7fa & gfg & @y oof o & gfg S &

Enthalpy increases as velocity increases.
(b) fd & 9fc & Wy gof S H Dkl gl @

Enthalpy decreases as velocity increases.

(c) U<l &I ER&VI/Entropy is conserved.
(d) b 3R c, GH/Bothbandc

Options:

1.a

2.b

3.C

4.d

Question Number : 5 Question Id : 7715134380 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

far yae # a1 seraviiodr & 91 S ds o

In an adiabatic nozzle with no irreversibility in steady-state flow:

(@) 7 & ofg & iy oof o= & ofg o B

Enthalpy increases as velocity increases.
(b) 7id ¥ gie & Iy quf =1 H DXt Bl §

Enthalpy decreases as velocity increases.

(c) U=IUl &1 TREU/Entropy is conserved.
(d) b 3R ¢, @Hi/Bothband c

Options :

1.a

2.b

3.C

4.d

Question Number : 6 Question Id : 7715134381 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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fpr o oY Y ER, d-WA DI iT-5oHH Yol H Py sin o t SEHE g6 IR
Wil 81 20 Hz (w = 20 ) &1 JdoH g Y SomH | & &l 81 k= 8m?x10°N/m,

m = 500 faTm, K = 80n2x10° N/mauiM = 5000 fpam &1 ¥ somm @
HfedaA T ..... $ I Bl

A sinusoidal force Py sin w t is applied to a two-degree-of-freedom spring-mass system as
shown in figure. The excitation frequency is 20 Hz (w = 20 ) acts on the top mass. Let k=
8m’x10°N/m, m=500kg K = 80m’x10° N/mand M = 5000kg.  Maximum
displacement of the top mass equals.

12

(a) div 9 zEAE | §cpd U 79 g, I
zero since the fop mass does not vibrate at all

(b) 20mP,/k

(c) FFIE & ®RU R/ Infinite due to resonance

(d) 400m?Py(K +k)

Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 6 Question Id : 7715134381 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
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fpr o oY Y ER, d-WA DI iT-5oHH Yol H Py sin o t SEHE g6 IR
Wil 81 20 Hz (w = 20 ) &1 JdoH g Y SomH | & &l 81 k= 8m?x10°N/m,

m = 500 faTm, K = 80n2x10° N/mauiM = 5000 fpam &1 ¥ somm @
HfedaA T ..... $ I Bl

A sinusoidal force Py sin w t is applied to a two-degree-of-freedom spring-mass system as
shown in figure. The excitation frequency is 20 Hz (w = 20 ) acts on the top mass. Let k=
8m’x10°N/m, m=500kg K = 80m’x10° N/mand M = 5000kg.  Maximum
displacement of the top mass equals.

12

(a) div 9 zEAE | §cpd U 79 g, I
zero since the fop mass does not vibrate at all

(b) 20mP,/k

(c) FFIE & ®RU R/ Infinite due to resonance

(d) 400m?Py(K +k)

Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 7 Question Id : 7715134382 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
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HUEYY g6 G 0 U foRuge R g 94 fgld ar] 6t a1 R, tRefid e
¥ gl g1 e, Fofifed 9 oA & oRumReEy g

While applying the theory of pure bending to a beam subjected to shear forces, which of
the following assumptions can result in largest error in the computed displacements?

(a) WRY H fdRUGS T 8/ The beam is initially straight

(b) fd&uw Bfer 8/Deflections are small

(c) U & U WS W 487 ¥ Tgd WU 9ul ¥ §, §91 & oRH 9Ue
Tl WA TG/ Transverse sections of the beam which are plane and normal
before bending remain plane and normal during bending

(d) foefa s & apar fie, ST R0 fammel 1 el vt 2

The radius of curvature of the deformed beam is large compared to its other

dimensions
Options :
1.a
2.b
3.c
4.d

Question Number : 7 Question Id : 7715134382 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

HUEYY g6 G 0 U fouge R g 964 fgid ar] 6 91 R, iRefid fGriH
¥ gl g1 e, Fofifed 9 oA & oRumReEy g

While applying the theory of pure bending to a beam subjected to shear forces, which of
the following assumptions can result in largest error in the computed displacements?

(a) WRY H fdRUGS T 8/ The beam is initially straight

(b) fd&uw Bfer 8/Deflections are small

(c) U & U WS W 487 ¥ Tgd WU 9ul ¥ §, §91 & oRH 9Ue
Tl WA TG/ Transverse sections of the beam which are plane and normal
before bending remain plane and normal during bending

(d) foefa s & apar fie, ST R0 fammel 1 el vt 2

The radius of curvature of the deformed beam is large compared to its other

dimensions
Options :
1.a
2.b
3.cC

4.d
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Question Number : 8 Question Id : 7715134383 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

il & foT WTeRl AR W SUarT T SHaT Ter & 57

What are the commonly used materials for strain gauges?

) o qurdiarNickel and copper
(b) e qur GHINickel and gold

) fde dgBgHNickel cadmium

) dide dig/Brass iron

Options :
1.a
2.b
3.c
4.d

Question Number : 8 Question Id : 7715134383 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e fermTe o feT TR AR IR JUaNT iU S-are e &1 82

What are the commonly used materials for strain gauges?

(a) ddqurdiaNickel and copper
(b) e qu1 GHINickel and gold
(c) ModbetmaNickel cadmium
(d) i Tie/Brass iron
Options :

1.a

2.b

3.c

4.d

Question Number : 9 Question Id : 7715134384 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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f # feET U SFER, THUR Fo0HM R0 qu g H @R Sioig id & WY guH
Yl 0@ Dl €5 & foU &3 &1 ofar 7 34l oa @ fed o1 iR ... g
For a cantilever beam with uniform mass distribution and rotating at a constant angular

velocity about an axis as shown in figure, the variation of axial force along the length of
the beam has a distribution

(a) @/ linear
(b) ©Hd/cubic

(c) TSHIUIG/quadratic
(d) Gmiﬂﬂ 1 a)ﬁ Ul e/ None of the above

Options:
1.a
2.b
3.C
4.d

Question Number : 9 Question Id : 7715134384 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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f # feET U SFER, THUR Fo0HM R0 qu g H @R Sioig id & WY guH
Yl 0@ Dl €5 & foU &3 &1 ofar 7 34l oa @ fed o1 iR ... g
For a cantilever beam with uniform mass distribution and rotating at a constant angular

velocity about an axis as shown in figure, the variation of axial force along the length of
the beam has a distribution

(a) @/ linear
(b) ©Hd/cubic

(c) TSHIUIG/quadratic
(d) Gmiﬂﬂ 1 a)ﬁ Ul e/ None of the above

Options:
1.a
2.b
3.C
4.d

Question Number : 10 Question Id : 7715134385 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WEHS TaR T & & [ AER-30an 48 | 9 & aui=iis W & GRH

g e ... 1 1@ (M=1) § oIl ¢l

During the isentropic flow of gases in a converging-diverging nozzle meant for achieving
supersonic flow, the Mach number becomes unity (M=1) at:

(a) ®&/Throat
(b) FIPM/Exit
(c)
(d)

c) &g ®&/Combustion chamber
d) 3ce/Inlet

Options :

1.a

2.b

3.c

4.d
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Question Number : 10 Question Id : 7715134385 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WEHS TaE T &3 & [ AER-30a 4 & 1 & aui=iie W & oRH
210G e | A T @ (M=1) & 9l gl

During the isentropic flow of gases in a converging-diverging nozzle meant for achieving
supersonic flow, the Mach number becomes unity (M=1) at:

(a) ©&/Throat
(b) FomM/Exit
(c) Ggd ®&/Combustion chamber
(d) Zcie/Inlet
Options :
1.a
2.b
3.¢C
4.d

Question Number : 11 Question Id : 7715134386 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

F §d & b’ $I% ¥ @ dPc B8 W JW ¥ 4 @ AR RA 96 g1 3R on

@ {0 JIaRIA 06 0.90F, of dd WidaU W b Gy R 367

A ball is dropped vertically onto a concrete floor from height “h’. If the coefficient of

restitution is 0.90 for the action, to what height will the ball rise on rebound?

h

a)
) 0.90h
)
)

(
(b
(c) 0.81h
(d) 0.5h

C
d

Options :
1.a
2.b
3.cC
4.d

Question Number : 11 Question Id : 7715134386 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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0@ d9d 3 ‘b’ a5 ¥ @ ol Y W FW ¥ A &l AR iR o g1 3R e
& U YIaRA & 0.90, of d1d Wdau R e Fag W I

A ball is dropped vertically onto a concrete floor from height ‘h’. If the coefficient of
restitution is 0.90 for the action, to what height will the ball rise on rebound?

(@) h
(b) 0.90h
(c) 0.81lh
(d) 0.5h

Options :

1.a

2.b

3.¢C

4.d

Question Number : 12 Question Id : 7715134387 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

G e Bid U SR, fonddt 4t U7 o faT 3 ac e T &% o ¢ 4G, 0 0
Y It Ufded &l e aH, e 1 RG]

A structure subjected to cyclic loading can withstand an infinite number of cycles without

any fatigue failure if the maximum value of the completely reversed stress is below the
of the material.

(a) S Tecl/Flexural Rigidity (b) T&d UM Endurance Limit
(c) faumaviadlFracture Toughness (d) 2l AMIdRigidity Modulus
Options :
1.a
2.b

3.¢C
4.d

Question Number : 12 Question Id : 7715134387 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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] GH Bl U T, forddt oiferet T o T SR Snad St W o ol & 4G i w U

9 IohHd Wided o1 affthad 7, Ted YDA

A structure subjected to cyclic loading can withstand an infinite number of cycles without

any fatigue failure if the maximum value of the completely reversed stress is below the
of the material.

(a) AT EgalFlexural Rigidity (b) g9 Y Endurance Limit
(c) faumavad Fracture Toughness (d) TGdl AMI®/Rigidity Modulus

Options :
1.a
2.b
3.C
4.d

Question Number : 13 Question Id : 7715134388 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
oXd ydig d ufcRiy <1, Wfde €9 & THHE &9 gldl 82

When is the stagnation pressure equal to the static pressure in a fluid flow?

(@) w9 Wd W Rufd 7 gl §/When fluid is at rest

(b) YDA 9 & fdg /At the point of maximum velocity
(c) e WAl H/In a vena contracta

(d) uuf famRd welel ware H/In a fully developed turbulent flow

Options :
1.a
2.b
3.C
4.d

Question Number : 13 Question Id : 7715134388 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
@R wae H Uiy 9|, Wide 9 & Y0 &9 Bldl 8?2

‘When is the stagnation pressure equal to the static pressure in a fluid flow?

(@) w4 wa fvM Rfd & it 8/When fluid is at rest

(b) 3B 9 & fdg W/ At the point of maximum velocity
(c) W¢ W& H/In a vena contracta

(d) uuf fasRd weel Ware H/In a fully developed turbulent flow

Options :
1.a
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2.b
3.C
4.d

Question Number : 14 Question Id : 7715134389 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e vedi & U foe Uged &0 ¥ v wiRly, S o U Hifd 99 @ Sawgddl
2, 1 T @ YeH 3 ¥ fo 6w giin dora wipd foR wU @ wdid g

For automotive components that need a combination of wear resistance, high hardness, and

fatigue strength. Which surface hardening process is especially effective for imparting
these properties?

(a) DTG/ Carburizing b} TECEeHI,/ Nitriding
(c) WUR €¢idRur/Induction hardening d) FEEIZSIHT/ Cyaniding

Options:
1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134389 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Tt gedl & fou fog ¥qad ®0 § v UiRly, 3= 2l aul 0 aa & Saxadd
2, 3 s 31 WeH B $ U Y UEi dord uipan iy U O gt g

For automotive components that need a combination of wear resistance, high hardness, and

fatigue strength. Which surface hardening process is especially effective for imparting
these properties?

(a) DI/ Carburizing (b) AELIESIE/ Nitriding
(c) WUl 2@/ Induction hardening (d) YEAESIBI/ Cyaniding

Options :
1.a
2.b
3.c
4.d

Question Number : 15 Question Id : 7715134390 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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AfTR-EIH o § @d WE § 947 &f ¢ W6 & fau &9 W ¥ ufdffdag
fohar oIl g7

The conservation of momentum in a fluid flow is represented by which term in the Navier-
Stokes equation?

(a) p(v.V)v (b) -Vp
(c) pAv (d) (a) AR (b) GHI/Both (a) and (b)

Options :
1.a
2.b
3.C
4.d

Question Number : 15 Question Id : 7715134390 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

HfemR-E THow § ®a W # 99 B T8 @ § U 59 T ¥ vl
forar T 82

The conservation of momentum in a fluid flow is represented by which term in the Navier-
Stokes equation?

(@) p(v.V)v (b) -Vp
(c) pAv (d) (a) ¥R (b) GHI/Both (a) and (b)

Options :
1.a
2.b
3.cC
4.d

Question Number : 16 Question Id : 7715134391 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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gmmwp-vmﬁmﬁuﬁﬁAﬁmw%amMﬁﬁﬁwm

If a thermodynamic cycle on a P-V diagram encloses an area A, and the cycle is traversed
clockwise, then:

() Toew gr four m dedd, A & HHUlGS Rl
The net work done by the system is proportional to A.
(b) Rren gRI 01 M1 dead, A & HeHANUIIS BT
The net work done on the system is inversely proportional to A.
(c) o [&d: FH-AdHD B/ The cycle is purely isochoric.
(d) 9% THddt ushH @1 Wialfta ol &

The cycle represents an isothermal process.

Options:
1.a
2.b
3.c
4.d

Question Number : 16 Question Id : 7715134391 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ngWP-Vﬁﬂﬁﬁwﬁﬂﬂﬁﬁ&ﬁAﬁﬂ?ﬁﬂTﬁﬂiﬂﬁWﬂaﬁﬁﬁﬁwm

If a thermodynamic cycle on a P-V diagram encloses an area A, and the cycle is traversed
clockwise, then:

(a) To%eH gn a1 Hedd, A & HEUTS Bl
The net work done by the system is proportional to A.
(b) Rren gRI 671 1 Hedd, A & HeHAMUIGE gl
The net work done on the system is inversely proportional to A.
(c) % [YGd: YH-3UGHS i/ The cycle is purely isochoric.
(d) 9% At uehH @1 WialfEa &l &

The cycle represents an isothermal process.

Options :
1.a
2.b
3.C
4.d

Question Number : 17 Question Id : 7715134392 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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frafafad #, dUF gR1 oM fbU SHdIT HUU g @l ol UHIidd dRdl 82

Which of the following affects the drag force experienced by an aircraft?

(a) UW®R/Wing shape (b) IEH @I Td/ Aircraft speed
(c) 9 TYAdI/Alr density (d) Iudad gi/All of the above
Options :
1.a
2.b
3.C
4.d

Question Number : 17 Question Id : 7715134392 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

frafifad o, 9aF gRI MG U AT HUU 99 B 31 UHIidd dl 62

Which of the following affects the drag force experienced by an aircraft?

(a) UEIPR/Wing shape (b) IAF DT TIfd/ Aircraft speed
(c) 9 TYUAdI/Air density (d) Sudad ¥Hi/All of the above
Options :
1.a
2.b
3.C
4.d

Question Number : 18 Question Id : 7715134393 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T @A W W HHR .. ... gRI Uy gl

In space with zero gravity, heat transfer is possible by

(a) dI@9 dYl "dg/Conduction & convection
(b) ¥agd qur fafdeul/Convection & radiation
(c) = dur faféu/Conduction & radiation
(d) ddaa fafdrul/Radiation only

Options :
1.a
2.b
3.C
4.d
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Question Number : 18 Question Id : 7715134393 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T @A W W HHR .. ... gRI Uy gl

In space with zero gravity, heat transfer is possible by

(a) dI@9 dYl "dg/Conduction & convection
(b) ¥agd qur fafdeul/Convection & radiation
(c) = dur faféu/Conduction & radiation
(d) ddaa fafdrul/Radiation only

Options:
1.a
2.b
3.c
4.d

Question Number : 19 Question Id : 7715134394 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

fofifed fa § wH safed tha-wA dif RBin-sHH-smule yurel & R @
DI HRGU DI GUA T 51 WOIe H G mr yRiie ORI up T foHE 9
t=0 g1 RIS fGRIT 1 7R, EHfed WHid Hghl aul WURRh &1 Sfawe SR,

g (log, 0.778=-0.251ad log, 0.686=—0.377)

The time history trace of the displacement of a viscous damped single-degree-of-freedom
spring-mass-dashpot system is shown in the following figure. The system is given an initial
displacement uy and then released at time t=0. The magnitude of initial displacement, the
damped natural frequency and the damping ratio of the system are, respectively.

(log,0.778 =—0.251 and log, 0.636 =—0.377)

1
0.8 \
- 0.244, 0,383
v 0.4
5
a 0.2
&
€ 0
E 0.2
3
2 04
(a]
-0.6 :
0.8 |
'1 | 1
0 0.05 0.1 0.15 0.2 0.25
Time (seconds)
(a) @; =50Hz@l/and & =0.02 (b) @; =25Hzd¥l/and & =0.04
(c) @; =25HzM™I/and & =04 (d) @; =25Hzd¥l/and & =0.02
Options:
1.a
2.b
3.c
4.d

Question Number : 19 Question Id : 7715134394 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

fofifed fa § wH safed tha-wA dif RBin-sHH-smule yurel & R @
DI HRGU DI GUA T 51 WOIe H G mr yRiie ORI up T foHE 9
t=0 g1 RIS fGRIT 1 7R, EHfed WHid Hghl aul WURRh &1 Sfawe SR,

g (log, 0.778=-0.251ad log, 0.686=—0.377)

The time history trace of the displacement of a viscous damped single-degree-of-freedom
spring-mass-dashpot system is shown in the following figure. The system is given an initial
displacement uy and then released at time t=0. The magnitude of initial displacement, the
damped natural frequency and the damping ratio of the system are, respectively.

(log,0.778 =—0.251 and log, 0.636 =—0.377)

1
0.8 \
- 0.244, 0,383
v 0.4
5
a 0.2
&
€ 0
E 0.2
3
2 04
(a]
-0.6 :
0.8 |
'1 | 1
0 0.05 0.1 0.15 0.2 0.25
Time (seconds)
(a) @; =50Hz@l/and & =0.02 (b) @; =25Hzd¥l/and & =0.04
(c) @; =25HzM™I/and & =04 (d) @; =25Hzd¥l/and & =0.02
Options:
1.a
2.b
3.c
4.d

Question Number : 20 Question Id : 7715134395 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal247

TR-gA13el fvuget & qan # feral fRudel & sy du & s Tl @
et § sifafad =d g1 3 sfafad wd L. @1 B0 @ gl

Equation of motion governing the transverse vibration of Timoshenko beams has

additional terms in comparison to that of Euler-Bernoulli beams. These additional terms
take into account;

(a) THRUUS SFWRY BIC BT &g fawuu qur §6
Axial deformation and bending of the beam cross section
(b) TeRRumel erfuRy e ol el fawun qur o fawum
Axial deformation and lateral deformation of the beam cross section
(c) [ARUGS SR BIC &1 HUEqUf fqeunr qur guiHl Siea
Shear deformation and rotatory inertia of the beam cross section
(d) P0G ST P @1 HTEUU fTEU0 qUT Tl

Shear deformation and curvature of the beam cross section

Options:
1.a
2.b
3.C
4.d

Question Number : 20 Question Id : 7715134395 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TeR-aHigel ool & o | feAn-al fGRugel & sy $u & e i @

TR0 H ffdiRad Td g1 U eifaRad =d ... P T W 3l

Equation of motion governing the transverse vibration of Timoshenko beams has

additional terms in comparison to that of Euler-Bernoulli beams. These additional terms
take into account;

(a) fIRULS ST PIC BT &y fawTo qur g

Axial deformation and bending of the beam cross section
(b) foRUGE SFFRY Bl @1 &Y fawuu qul iy fawu

Axial deformation and lateral deformation of the beam cross section
(c) RO SFRY BIC BT TR fGFq0] T4 gl Tod

Shear deformation and rotatory inertia of the beam cross section

(d) fheodd Uy B¢ @ Uyl fIEuo qur ashd

Shear deformation and curvature of the beam cross section

Options :
1.a
2.b
3.C
4.d


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Question Number : 21 Question Id : 7715134396 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TdE W &W ‘P’UsH & HRU U U & U ffg W ulded S 3@ &l €1 S 3R P,
aH @ Nm? Il B ffiered U O 81 Fufafed s § sH-1 W@ 82
Let ‘S’ be the stress developed at a point on a body due to a pressure ‘P” acting on its

surface. Both ‘S’ and ‘P’ are expressed in N/m? units. Which of the following statements
is true?

(a) ‘P’ ST HET § Tefd ‘S’ WieW A
‘P’ is a scalar quantity while ‘S’ is a vector quantity
(b) P 3R s, EHI Wiew WA ¥
Both ‘P’ and ‘S’ are vector quantities
(c) ‘P’ 3feE AEN § Wa S’ fgdu-#9 ule™ 9o §
‘P’ is a scalar quantity while ‘S’ is a second-order tensor quantity
(d) IR g, e fadio-wm o mpmg §

Both’ P’ and *S’ are second-order tensor quantities

Options :
1.a
2.b
3.C
4.d

Question Number : 21 Question Id : 7715134396 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Y | @ ‘P’ U & ®RU B fis & Uo fdg W ufdad S’ 3@ gl 81 S 3R P,
aHl @ NmgFel § sfierad f o 8| Fefafed v § oF-T1 Tl 82
Let ‘S’ be the stress developed at a point on a body due to a pressure ‘P’ acting on its

surface. Both ‘S’ and ‘P’ are expressed in N/m? units. Which of the following statements
is true?

(a) P e HET € W6l S Wlew "E
‘P’ is a scalar quantity while ‘S’ is a vector quantity
(b) <P’ 3R ‘s, Tl Wiew WA ¥
Both ‘P’ and ‘S’ are vector quantities
(c) ‘P 3fem AEN § e S’ fadiu-#9 uflew Ao §
‘P’ is a scalar quantity while ‘S’ is a second-order tensor quantity
(d) PR s, a fdlo-wm oiew Aoy &

Both’ P’ and ‘S’ are second-order tensor quantities

Options :


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

1.a
2.b
3.c
4.d

Question Number : 22 Question Id : 7715134397 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Abe F ¥ euad THER ¥ QMR JRIaR & UHA0 d9 Bl § 99 ......
In a rocket nozzle, the transition from frozen to shifting equilibrium occurs when:

(a) MWPRE gl ¥7 ¥ I4El § 9gd 9 §
Reactants have fully converted to products

(b) UM fR St & o oRo Sfima TRURY B @
Temperatures fall, allowing reactions to recommence

(c) TS od, uRah @ & oIdt 3
Nozzle pressure becomes ambient pressure

(d) ffspaa fog ga S

Stagnation point is reached

Options:
1.a
2.b
3.c
4.d

Question Number : 22 Question Id : 7715134397 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

AUdbe de ¥ deydd graR § RHWR Jra® & YA a9 gl § e ...
In a rocket nozzle, the transition from frozen to shifting equilibrium occurs when:

(a) fi@R® Uf ¥7 ¥ IdE ¥ 95d Il §
Reactants have fully converted to products

(b) THN R o ¥ R SR AfUHAN TR g @
Temperatures fall, allowing reactions to recommence

(c) % @@, URash @ & o §
Nozzle pressure becomes ambient pressure

(d) FfSoar fig wga ot 3

Stagnation point is reached

Options :
1.a


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

2.b
3.C
4.d

Question Number : 23 Question Id : 7715134398 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Y4l Uded & 9) § FEiied § @ 98l 8o

Which of the following is true about flow stress?

(a) Wd fagal @1 TWUY/Locus of yield points
(b) UR g9 W FHHiPd/Modeled using power law
(c) Uidea s oRU wiwes &7 § RR fiol w wof fefa 8 @

Stress that causes the material to deform at constant strain in the plastic region

(d) Iudad /Al of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 23 Question Id : 7715134398 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

yare Uded & 9R § Fofefed § @ Od 3

Which of the following is true about flow stress?

(a) W4d fdgal @1 TW@UY/Locus of yield points
(b) R FTH W FHigd/Modeled using power law
¢) Widga ford @Ru @fes &1 § RR fiofa R werf fawfia gidt &

Stress that causes the material to deform at constant strain in the plastic region

(d) Gﬂiﬂﬁ it/ All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 24 Question Id : 7715134399 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

4.0 MPa 3idR® @/ ¥dled & 5g 1800 fAfcHIcr M @ STHIGR &§ UA & U
3UfRR TR @1 Udl W01 o U, YU SN ¥ S g § forid! WiHd Iy 450
MPa g1 (AH o b Q&1 RS 1.08)

Find thickness required for 1800 mm diameter cylindrical pressure vessel, which is

required to carry 4.0 MPa internal pressure. The pressure vessel is made of alloy steel
whose yield strength is 450 MPa. (assume factor of safety as 1.0)

(a) 4 M@feHiet/mm
(b) 2 fAfeHier/mm
(c) 8 ffemiet/mm
(d) 16 fAfeHc/ mm

Options :
1.a
2.b
3.c
4.d

Question Number : 24 Question Id : 7715134399 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

4.0 MPa ¥idR@ @@ Udfed 4 &q 1800 iy g & oeHGR @@ WA & U

UTEG HICTE @1 Udl U o9 UE, Mg SN 9§ &1 g & ool WIMd 9md 450

MPa g1 (WH o b Q&1 RS 1.08)

Find thickness required for 1800 mm diameter cylindrical pressure vessel, which is

required to carry 4.0 MPa internal pressure. The pressure vessel is made of alloy steel
whose yield strength is 450 MPa. (assume factor of safety as 1.0)

(a) 4 MfeHiet/mm
(b) 2 e/ mm
(c) 8 et/ mm
(d) 16 fAfeHict/mm

Options :
1.a
2.b
3.C
4.d

Question Number : 25 Question Id : 7715134400 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

faqdu & fg R0 Bl 999 & 9y H Aol fiEiEd Hd 82

Which stage of creep is characterized by a decreasing rate of strain with time?

a) WG f49dul/Primary creep
b) f&dig fawdul/Secondary creep
c) qdia fawyul/ Tertiary creep
d) URMS fd9dul/Initial creep

Options :
1.a
2.b
3.C
4.d

Question Number : 25 Question Id : 7715134400 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

faqdu & fog RO &l Y9G & 9y HH ool sficfaa ddl 87

Which stage of creep is characterized by a decreasing rate of strain with time?

(a) WyfH® faudul/Primary creep
(b) f&dig fagdul/Secondary creep
(c) qdig fagdu, Tertiary creep
(d) URf® fagdul/Initial creep

Options :
1.a
2.b
3.cC
4.d

Question Number : 26 Question Id : 7715134401 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
95— &g Rad H Wl & did G ... |

In a multi-stage axial turbine, reheat between stages can:

(@) <RU G&dl YYR Wehdl §/Improve the stage efficiency.

(b) Wid @1 SigdmId °el Ybdl §/Decrease the blade lifespan.
(c) T GE 3fUid Ul Ydbdl /Reduce the overall pressure ratio.
(d) eWET & IR-UR SHHAM Udl§ & d¢l Ydbdl &

Increase mass flow rate through the turbine.

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 26 Question Id : 7715134401 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
95— &g Rad H Wl & did G ... |

In a multi-stage axial turbine, reheat between stages can:

(@) <RU G&dl YYR Wehdl §/Improve the stage efficiency.

(b) Wid @1 SigdmId °el Ybdl §/Decrease the blade lifespan.
(c) T GE 3fUid Ul Ydbdl /Reduce the overall pressure ratio.
(d) eWET & IR-UR SHHAM Udl§ & d¢l Ydbdl &

Increase mass flow rate through the turbine.
Options :
1.a
2.b
3.c
4.d

Question Number : 27 Question Id : 7715134402 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

YAl 0D 210 GPa, ‘P’ Higad YR &AM ‘L dls & 9Y SS304L ¥ &1, GHI

R & foba1 gofl, U gl &Y 81 &Y & Uerd B G WOrUdl Ui 70 GPa @ 1Y

AA219 ¥ URGldd fow o §, du1 16 AR @1 R 3R e R @1 R fooar @ g,

dl g YR BRE & BHIT

A circular column both ends hinged made of SS304L with modulus of Elasticity of 210

GPa, length of ‘L’ having a buckling load capacity of P. If material of the column is changed

to AA2219 with modulus of Elasticity of 70 GPa, and end condition to one end fixed and

one end hinged. Then what will be buckling load factor?

(@ P (b) 6P (c) 2P/3 (d) P2
Options :
1.a
2.b
3.C
4.d


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Question Number : 27 Question Id : 7715134402 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

YRSl U5 210 GPa, ‘P’ 3iddd HR &Hdlaw L wialy & WY SS304L ¥ &I, Hl

R 89 e gofl, Uh iy WY 31 WY & Tard @I gie YR UG 70 GPa @ WY
AA2219 ¥ URafdd fear Sidr g, du1 U AR o R 3R e MR oI R four o &,

dl Hpa YR BRS T g7

A circular column both ends hinged made of SS304L with modulus of Elasticity of 210

GPa, length of ‘L’ having a buckling load capacity of P. If material of the column is changed

to AA2219 with modulus of Elasticity of 70 GPa, and end condition to one end fixed and

one end hinged. Then what will be buckling load factor?

(a P (b) 6P (c) 2P/3 (d) P2
Options :
1.a
2.b
3.c
4.d

Question Number : 28 Question Id : 7715134403 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

9Cad oW B U@ &id URY & R-UR AR 74 U U W YAl I gl URY &
fodl o o g9l & d Pglifed d o @ WiEd w8

A fluid flows steadily through a horizontal pipe of varying diameter. Which of the
following is *not* a conserved quantity across any two sections of the pipe?

(a) woOHM/Mass
(b) Swli/Energy
(c) @@ ¥aT/Linear momentum
(d) 7/ Velocity
Options :
1.a
2.b
3.C
4.d

Question Number : 28 Question Id : 7715134403 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

ead oW @1 0P &fad URY @ R-UR fR UM Y U R YR Bl gl URY &
bl o < gel & d Piifed § o @ WiED AE e 8

A fluid flows steadily through a horizontal pipe of varying diameter. Which of the
following is *not* a conserved quantity across any two sections of the pipe?

(a) woOHM/Mass
(b) Sull/Energy
(c) &® WaT/Linear momentum
(d) 7/ Velocity
Options :
1.a
2.b
3.C
4.d

Question Number : 29 Question Id : 7715134404 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

109 &1 A1y v /AR HJUIdde o d U & ... ... &gl Srdl B
Pressure vessel with ratio of mean radius/thickness less than 10 is called;

(a) dNi® ®ad,/Thin shell

(b) W™ ®dd/Thick shell

(c) offd §Ri® &dd/Ultra thin shell

(d) H¥EH dRid ®dd/Moderately thin shell

Options :
1.a
2.b
3.c
4.d

Question Number : 29 Question Id : 7715134404 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

10 Y & " Bl /Al SUddrel o 9F Bl ... .. .. ®el ol gl

Pressure vessel with ratio of mean radius/thickness less than 10 is called;

(a) dRi® ®dd/Thin shell

(b) ¥H4 ®dd/Thick shell

(c) 3fd dRid ®ad/Ultra thin shell

(d) #EH dRi® $Had/Moderately thin shell

Options :
1.a
2.b
3.C
4.d

Question Number : 30 Question Id : 7715134405 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

I et U ufded siegg &1 wydH FgR &1 [uiRor &)

Determine the first invariant of the stress matrix given below;

[SD 30 20]
30 -20 -10
20 —-10 10
(a) -2100
(b) -28000
(c) 40
(d) -3100
Options :
1.a
2.b
3.c
4.d

Question Number : 30 Question Id : 7715134405 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

I feu U ufaes segg &1 vy FgR &1 [AuiRor &8

Determine the first invariant of the stress matrix given below;

50 30 20
30 -20 -10

20 -10 10
(a) -2100
(b) -28000
(c) 40
(d) -3100
Options:
1.a
2.b
3.C
4.d

Question Number : 31 Question Id : 7715134406 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fofafed § ta™y gimar ufes aH-91 82

Elasticity stiffness tensor is which among the following?

(a) WYH Pif¢ UG/ First order tensor
(b) Tfadim @ife ufe=/Second order tensor
(c) Jdig i Ui/ Third order tensor
(d) dIgsbiie WiG=I/Fourth order tensor

Options :
1.a
2.b
3.cC
4.d

Question Number : 31 Question Id : 7715134406 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

fafafed 8 Toy i uew dH-91 87

Elasticity stiffness tensor is which among the following?

(a) WYH Pii¢ UG/ First order tensor

(b) fgdig ®If¢ ufe=/Second order tensor
(c) Targ ®ife ufe=/Third order tensor
(d) dgspife WiG=/Fourth order tensor

Options:
1.a
2.b
3.C
4.d

Question Number : 32 Question Id : 7715134407 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U@ U W § dHady B% & fow uR @ G § B% 91 dien ofR @9 Bl 8,
yfcee Wgl FRS ... Gl

For an elliptical hole on a flat plate, if width of the hole in direction of the load decrease,
Stress Concentration Factor will

(a) @@ﬂ'\ﬁf[ncrease
(b) ®H/Decrease
(c) f@R/Remains constant
(d) e & few o1 9% vl @ woe & fow i
Can’t be determined. Varies from material to material
Options :
1.a
2.b
3.¢C
4.d

Question Number : 32 Question Id : 7715134407 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

U6 WO We § o B% & o yR @ R & fiw of 9ieE o oW B g,
yided gl oRS ... .. Gl

For an elliptical hole on a flat plate, if width of the hole in direction of the load decrease,
Stress Concentration Factor will

@E;_ i/ Increase

(a)
(b) ®H/Decrease

(c) f@R/Remains constant

(d) fufa 78 fom 91 v@a wef 4 e & fow fim

Can’t be determined. Varies from material to material

Options :
1.a
2.b
3.C
4.d

Question Number : 33 Question Id : 7715134408 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
st Ou Bf efig Ug ¥ e adigar < O 8, o SmEm ... .. et Bl

Centrifugal pumps are preferable over axial pumps when the requirement is:

(a) 3= fdwsiF/High discharge

(b) 49 =¥/Low head

(c) 9 faueH U1 3= Wi¥/Low discharge and high head
(d) i@ YRl W J= Ge&dl/High efficiency at partial loads

Options :
1.a
2.b
3.c
4.d

Question Number : 33 Question Id : 7715134408 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

YUt UU BT efig Ug T afe qdudr € ot 2, o aer .. ... GG

Centrifugal pumps are preferable over axial pumps when the requirement is:

(a) 3= fd¥si-/High discharge

(b) g 2/ /Low head

(c) Tw fawelH qu1 3= WH/Low discharge and high head
(d) ofiffd YRl W J= Ge&fdl/High efficiency at partial loads

Options :
1.a
2.b
3.C
4.d

Question Number : 34 Question Id : 7715134409 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 U i | ... .. gidl 8/A Turn buckle has;

(a) cféonad Ua/Right-hand thread
(b) dMEdl Ud/Left-hand thread
(c) TP RN H qmmad Ua qur fawdd Y H clgonadi o9
Left-hand thread on one end and right-hand thread on the opposite side
(d) P R H gmEmEdl do 9u g R H @5 Ud T8

Left-hand thread on one side and no thread on the other side

Options :
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134409 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Uh O i H ... .. gidl /A Turn buckle has;

(a) Gf&mmadl Ud/Right-hand thread
(b) dmadl Ud/Left-hand thread
() TP R o gmaEdl 49 o fowda fR o cféomadt i
Left-hand thread on one end and right-hand thread on the opposite side
(d) P R o gmEd] U9 aur R R o 313 U el

Left-hand thread on one side and no thread on the other side


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134410 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Uhd Tty gordl § fawmefer, ......... @ gfd I ol

Anisotropy in single crystalline materials signifies:

(a) @i fezmsil & UHUAM TUH/ Same properties in all directions.
(b) sl & Fafd omaRT & BRU fAE fReme | it e

Different properties in different directions due to a regular arrangement of atoms.
(c) CH-WREf R & {E & RO Gard TUE H AefEdd

Randomness in material properties due to lack of long-range order.

(d) ¥ oReim & SRU afq §q

Increased strength due to grain boundaries.

Options:
1.a
2.b
3.¢
4.d

Question Number : 35 Question Id : 7715134410 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
Tod fpeda Tl § fovmeRear, ..., @ gd B gl

Anisotropy in single crystalline materials signifies:

(a) @i fezmsil § UHIAM TOH/ Same properties in all directions.
(b) sl & Fafd omawn & BRU fAiE fRme o fafte e

Different properties in different directions due to a regular arrangement of atoms.
(c) CH-WREf R & AYE & RO Tard TOE H Aefadd

Randomness in material properties due to lack of long-range order.
(d) Y oRdim & SRU affd §a

Increased strength due to grain boundaries.

Options :
1.a
2.b
3.c


https://applink.adda247.com/d/XhqWf9lSap
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4.d

Question Number : 36 Question Id : 7715134411 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

¥R TS 319 Hled @ b (P fdg & Ug Hsia foar o g, 99 dk W dH-11

If a solid propellant is stored near its triple point, which phase transition is NOT possible

directly?

WIeAT ¥ 319/Plasma to Solid.

a
Eb]} o9 ¥ 9/Solid to Gas.
(c) %4 ¥ ™/Liquid to Gas.
(d) 3N ¥ %d/Solid to Liquid.
Options:
1.a
2.b
3.C
4.d

Question Number : 36 Question Id : 7715134411 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

¥R U@ 3N dled  3Yb Bo dg & oy Yeikd b o g, @4 dR ® oH-11

If a solid propellant is stored near its triple point, which phase transition is NOT possible

directly?

WITAT ¥ 319/Plasma to Solid.

a
Eb]} 3 ¥ 19/Solid to Gas.
(c) %4 ¥ "W/Liquid to Gas.
(d) 3N ¥ %d/Solid to Liquid.
Options :
1.a
2.b
3.C
4.d

Question Number : 37 Question Id : 7715134412 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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Uqed o e e sfifear & fou sfifear favum (Q), dqad fRi® (K) aur fisd
o ol (G) D o & ey ......... H

For a chemical reaction at equilibrium, the relationship between reaction quotient (Q),
equilibrium constant (K) & Gibbs free energy (G) is:

a) AG=0,/and Q=K.

b) AG #0,dfd/but Q =K.

c) AG=0,dd/but Q £K.

d) AG TUIQ,&Hl U & YHH/AG and Q both equal zero.
Options :

1.a

2.b

3.c

4.d

Question Number : 37 Question Id : 7715134412 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U ¥ @ WEte st o e sfiihar v (Q), dqeH ARG (K) aur fisy
o ol (G) D o & Gay ......... gl

For a chemical reaction at equilibrium, the relationship between reaction quotient (Q),
equilibrium constant (K) & Gibbs free energy (G) is:

(a) AG=0,TI/and Q=K.
(b) AG#0,did/but Q=K.
(c) AG=0,dd"/but Q#K.
(d) AG TUIQ,GHl T & WHH/AG and Q both equal zero.
Options :
1.a
2.b
3.c
4.d

Question Number : 38 Question Id : 7715134413 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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f§1 e & B U sufaerd, S Uhd H, 34 oY ¥ $F gl 87

In a non-reactive, adiabatic process with no external work, which of these statements is
true?

(a) 3iaRk® FHull @R Ygdl §/Internal energy remains constant.
(b) qﬂﬁﬁil f@R gdl 8/Enthalpy remains constant.
(c) U=l RR Wt §/Entropy remains constant.
(d) 7fas FHul R el §/Kinetic energy remains constant.
Options:
1.a
2.b
3.C
4.d

Question Number : 38 Question Id : 7715134413 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

foT a1 B @1 U@ omidEr, T UHd H, 31 Bl § o el 82

In a non-reactive, adiabatic process with no external work, which of these statements is
true?

3iakd FHul R Tl §/Internal energy remains constant.
1@&’ ¥gdl 8/Enthalpy remains constant.
f@R Tl §/Entropy remains constant.
ot R

Ygdl 8/Kinetic energy remains constant.

— — — ——
O O T W
R i

Options :
1.a
2.b
3.C
4.d

Question Number : 39 Question Id : 7715134414 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ey ER WU H 50% M @ Pife o1 Adad ... ... T gl

The 50% degree of reaction in an axial turbine stage implies:

(a) R H M1 QU UG Bl 8/Half the enthalpy drop occurs in the rotor.
(b) WdI§ @ 50%, Hid@HE §/50% of the flow is supersonic.

(c) fas qld Iﬁﬂ Qﬂ?ﬁ %,«”The static pressure remains constant.

(d) 50% @M, fouR® 4 ogdd @'cﬁ %f 50% of work is derived from the diffuser.


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Question Number : 39 Question Id : 7715134414 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

el TXaRT WU H 50% i @t Jifc &1 Adad .. .. .. T gl

The 50% degree of reaction in an axial turbine stage implies:

a) X H e YU U Bidl 8/Half the enthalpy drop occurs in the rotor.
Wdlg @1 50%, Hid@Hd §/50% of the flow is supersonic.
Widd ¢ @R gt §/The static pressure remains constant.

— — ——
L =
et

d) 50% ®M, GRS ¥ FgA gdl 8/50% of work is derived from the diffuser.
Options :
1.a
2.b
3.C
4.d

Question Number : 40 Question Id : 7715134415 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ufes o oM 3AYe Ad9 Tedl &, od Ydied ufsbar ... .. Bl &l

The work input to a compressor is minimum when the compression process is:

(a) gHdMl/Isothermal
(b) G/ Adiabatic
(c) HHeTl/Isobaric

(d) dgalR®/Polytropic
Options :
1.a
2.b
3.c
4.d

Question Number : 40 Question Id : 7715134415 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Ufes o oM 3AYe Ad9 Tedl &, o9 Ydied ufbar ... .. HGI

The work input to a compressor is minimum when the compression process is:

(a) gHdMl/Isothermal
(b) G/ Adiabatic
(c) HHeTl/Isobaric

(d) dgalR®/Polytropic
Options :
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134416 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
W TRGE d aidd SUd-oin Bl 8, WA 31 IR fhw gew ¥ gt 82

When an aerofoil is subject to increasing angles of attack, which event marks the onset of
stall?

(a) fFHdA IUGA W Bidl /Maximum lift is achieved.
(b) @Y Tuid T T W §/Drag coefficient becomes zero.
(c) Uk Wd ¥ yawg Tf &Y § T Bl 8

Flow separates completely from the upper surface.
(d) SUR Tl Feel Wal R &9 R0 0@ GHEY gl ol §

Pressure distribution on the upper and lower surfaces becomes identical.

Options :
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134416 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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W TRIGIET H dffd MUE-SI0 gl 8, WHT &1 IRY Y e ¥ gl 82
When an aerofoil is subject to increasing angles of attack, which event marks the onset of
stall?

(a) A UM W gt §/Maximum lift is achieved.
(b) @Y Tuid Y I Sl 3/Drag coefficient becomes zero.
(c) R Wa ¥ o Tf ¥ F @ gt &

Flow separates completely from the upper surface.
(d) FuRk aur faeh Rl R g9 AR @ 99E g o §

Pressure distribution on the upper and lower surfaces becomes identical.

Options :
1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134417 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

iR & &R @ Fad o P9 foU for @ R fid, R <7 o foodo wity
YR H1 916d §l 39 95 & U @H-d uihar wey 3fad g
A gear manufacturer wants to improve the wear resistance of the gear teeth without

compromising the toughness of the gear's core. Which process would best serve this
purpose?

(a) uuf 3FficH/Full annealing
(b) P & YA YA/ Carburizing followed by quenching
(c) WG/ Cyaniding
(d) UHHEISI/Normalizing
Options :
1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134417 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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R & @R @ FHad 9 &9 foU for @ fR fwid, R <@ @ foow wity A
QYR M1 6§l 39 959 & U SH-d uikar wed Ifad g
A gear manufacturer wants to improve the wear resistance of the gear teeth without

compromising the toughness of the gear's core. Which process would best serve this
purpose?

(a) o aFicH/Full annealing
(b) X & UYKd YA/ Carburizing followed by quenching
(c) WABET/ Cyaniding
(d) TSI/ Normalizing
Options:
1.a
2.b
3.c
4.d

Question Number : 43 Question Id : 7715134418 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U 9 & M22x1.5-6H & &0 § Ffey faan 1 81 Foffad & ¥ o8 T &2

A thread is designated as M22x1.5-6H, which of the following is true?

(a) 9 gl® YA &1 UldFE Sl 8/1It represents a metric thread
(b) d€ HidR® YA Bl Yfad 1 8/It indicates an internal thread
(c) T 1.5 fiyefiefiex 8/Pitch is 1.5mm

(d) Sudad wHi/All of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 43 Question Id : 7715134418 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U 9 & M22x1.5-6H & &0 § Ffey foan mr 31 Foffad § € o8 96 82

A thread is designated as M22x1.5-6H, which of the following is true?

(a) 98 gld YA & U@ &d /1t represents a metric thread
(b) dg #fidRe YA B Yfud Al /1t indicates an internal thread
(c) @ L5 WY 8/Pitch is 1.5mm

(d) Twd FHi/All of the above
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Options:
1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134419 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ol figalt & a9 Tier wiow a o W ... 3! Blga) FHyarad T &1 M

fur o g1

When applying Bernoulli's equation between two points, the assumptions include all of the
following except:

) TR vaR/Steady flow

) Uiy V4G /Incompressible flow

) P UY & GAMIR Yas/Flow along a curved path

) U & SR Bly FHull W Tel/No energy losses due to friction

Options :
1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134419 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ol figeft & o e e wliew an o W ... 3l Blea MEfafad Wi &1 N

CRUNEIGI

When applying Bernoulli's equation between two points, the assumptions include all of the
following except:

f@R 7a1g/ Steady flow

HUisy Warg/Incompressible flow

9% UY & GAFIR YdTg/Flow along a curved path

uy§ul & BRU I3 Bl 5 Te1/No energy losses due to friction

Options :
1.a
2.b
3.C
4.d


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 45 Question Id : 7715134420 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U o o H Ad & 58 I ... 2

The main function of a nozzle in a jet engine is to:

(@) WA & &4 ®I dgHI/Increase the pressure of the fluid
(b) WA & & &I "UeHI/Decrease the velocity of the fluid
(c) TN FHull @i Tad Hoil H gRafdd &1

Convert pressure energy into kinetic energy
(d) Tifi® & & & fau R T FHell Hora

Extract energy from the fluid to do mechanical work

Options :
1.a
2.b
3.c
4.d

Question Number : 45 Question Id : 7715134420 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e oe 3o H did & 980 & ... .. e

The main function of a nozzle in a jet engine is to:

(@) WA @ &4 @I dgHI/Increase the pressure of the fluid
(b) WA @& 9 Bl UeHI/Decrease the velocity of the fluid
() T FHul Bl AW Hul H gRdfdd S

Convert pressure energy into kinetic energy
(d) Titie @d $H & [T R 9 FHull Hdram

Extract energy from the fluid to do mechanical work

Options :
1.a
2.b
3.C
4.d

Question Number : 46 Question Id : 7715134421 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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a9 U B AT ... . & [HuR0 & fau IugiT fedrerdr ¢

Tensile testing is primarily used to determine:

(@) Ufdurd §d/Impact strength
(b) Ucd B DHERdl/Material hardness
(c) ol wd o et e /Ductility and strength properties
(d) HefdRIgu WiRig/ Creep resistance
Options :
1.a
2.b
3.c
4.d

Question Number : 46 Question Id : 7715134421 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T a0 & P ... @ FURe & U Suar fedrerd g

Tensile testing is primarily used to determine:

(@) widurd &d/Impact strength

(b) e @ HERdl/Material hardness

(c) Ol ud 9o YdHh TUE,/ Ductility and strength properties
(d) HefaRigur ufaRie/ Creep resistance

Options :
1.a
2.b
3.cC
4.d

Question Number : 47 Question Id : 7715134422 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

FofiRed oRffadl 4 aquE & 18 & IW, W5 JyYdHU Bl URH Sa d69 G
URfRfa P &2

Which of the following scenarios would most likely lead to the onset of flow separation
over an aircraft wing?

a) U-®I0 H ®eldl/Decrease in angle of attack

b) URYM Wd # T YaTg/Laminar flow in the boundary layer
c) Widdd & UdUidl/Adverse pressure gradient

d)

(
(
(
(d) ¥ie" BT ¥ gig/Increase in Reynolds number


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Question Number : 47 Question Id : 7715134422 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fgfed TRl § I & 48 & IR, TR JYER0 bl TRY Ha Ja4 TH
oRfRfd SH-1 82

Which of the following scenarios would most likely lead to the onset of flow separation
over an aircraft wing?

) UGS § BNt/ Decrease in angle of attack

) URYH WA H ¥RY WdTE/Laminar flow in the boundary layer
) Widdd @@ YdUKdl/Adverse pressure gradient
)

a
b
¥
d) Wiy Y& ¥ gig/Increase in Reynolds number

(
(
(
(

Options :
1.a
2.b
3.c
4.d

Question Number : 48 Question Id : 7715134423 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
Ud @R § HEhe U9 & O 59 WeR & 7o agia® il 3dd g Tl 87

For transonic flow in a turbine, what major aerodynamic challenge can arise?

(a) UREAT WA QYdH0/Boundary layer separation
(b) W T8 &/ Shock wave formation
(c) WHIU-Ug®l YHAU,Laminar-turbulent transition
(d) v URddH/Flow reversal

Options :

1.a

2.b

3.C

4.d


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 48 Question Id : 7715134423 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W RER ¥ e was § o 59 TR 3 Tor agiae g 39 8 Sdd 87

For transonic flow in a turbine, what major aerodynamic challenge can arise?

(a) UREMI TR YdHI/ Boundary layer separation
(b) WET T8 @/ Shock wave formation
(c)

TRIG-Vef® HshAYT/Laminar-turbulent transition
(d) vd® UR4dH/Flow reversal

Options :
1.a
2.b
3.c
4.d

Question Number : 49 Question Id : 7715134424 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fs 7w 3us WSt & fou foe & yoR @ FufiiEd ¥ o8 weffie e 8 s =

507000040040 firefiHiey Ul PUD = 500.145+0.063 firefiefiex feam T B

Which of the following represents the type of fit for a hole and shaft pair given that Hole
= 5010.00040.040 ;ym and shaft = 500-04340.065 ym?

) 3Iet e/ clearance fit
) oiddRu fihe/interference fit
c) HHAW fe/transition fit
) Gﬂ’{[ﬂﬂ T 3 g ol 98l/None of the above
Options :
1.a
2.b
3.c
4.d

Question Number : 49 Question Id : 7715134424 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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&% U 3UF il & fu e & WoR @1 fofied § o Rl o & B =
50700000040 TEfiTfiey QT PUB = 5070.045+0.065 firefieffex fga Ty B

Which of the following represents the type of fit for a hole and shaft pair given that Hole
= 50+0.0000.040 yym and shaft = 5070-04340.063 o

(a) et fhe/clearance fit
(b) afddul ey interference fit
(c) EHA fhetransition fit
(d) G’E@fﬁ 4 ¥ 3z off Tef/None of the above
Options :
1.a
2.b
3.c
4.d

Question Number : 50 Question Id : 7715134425 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
UG Usy, WM uag # o figel & dfd oa Saf /WY ... ghftl

In an incompressible, viscous flow, the total energy head between two points will:

(a) AN RR W g§/Always remain constant
(b) TH YHE & R dfdd gIdT 8/Increase due to viscous effects
(c) ¥OF UYHE & SHRU $H Bl §/Decrease due to viscous effects
(d) =g yyd U 3R Tgf gl &/Not be affected by viscous effects
Options :
1.a
2.b
3.c

4.d

Question Number : 50 Question Id : 7715134425 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
o iy, wH vag | o fdge & ffa oo S o ... gt

In an incompressible, viscous flow, the total energy head between two points will:

(a) &H=M @R I8l §/Always remain constant

(b) TEH UHE & RO Ifid Bl §/Increase due to viscous effects
(c) =gH yyd & ®RU ®H gldl §/Decrease due to viscous effects
(d) =OM UHE ¥ ™R 8l Bl §/Not be affected by viscous effects

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 51 Question Id : 7715134426 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
argfas! o Pl uRffq &1 dey oy qu 4 g2

The Kutta condition in aerodynamics relates to which phenomenon?

(a) druUitieT o URWEr Wd B T
Formation of boundary layers on an airfoil

(b) Tuitier & fied R § waR ufowy

The flow behavior at the trailing edge of an airfoil
(c) 3MEME Wdle I &I URY
The onset of transonic flow speeds

(d) fdnfcu ¥ wiFel &1 fabm™
The development of vortices from wingtips
Options:
1.a
2.b
3.c
4.d

Question Number : 51 Question Id : 7715134426 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
argiae! H gl URRYfT @1 ddy foy qw 9 82

The Kutta condition in aerodynamics relates to which phenomenon?

(a) drguitie o URTET R &1 -
Formation of boundary layers on an airfoil

(b) darquitier & fisd X § ware ufawy

The flow behavior at the trailing edge of an airfoil
(c) oMEfFd wdle a1 @1 URY
The onset of transonic flow speeds

(d) fafeu ¥ Yl o1 faem

The development of vortices from wingtips
Options :
1.a
2.b
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3.C
4.d

Question Number : 52 Question Id : 7715134427 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TR U1 Ve Wgfd & ol TshHUIENH WY § TdR YT Bdl U g ae & fou
oY G BT AR B B 22

For a smooth sphere experiencing flow in the fransitional range between laminar and
turbulent regimes, how does the drag coefficient behave?

(a) WY & HR-UR &R gdl 8/It remains constant throughout the range.
(b) SFM® =R HH H Tl Wil §/1t suddenly jumps to a higher value.
(c) omM® g 7F # =i ot € R iR R ¥ Tedl B

It drops sharply to a low value and then gradually increases.
(d) el deR Tl 8/1t exhibits oscillatory behavior.

Options :
1.a
2.b
3.C
4.d

Question Number : 52 Question Id : 7715134427 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R U1 Ve Wafd & ol TshHUIdNH WY H Tdle SfYd Bdl U g Alde & fau
oY G BT AR DL B 82

For a smooth sphere experiencing flow in the fransitional range between laminar and
turbulent regimes, how does the drag coefficient behave?

(a) WM & R-UR &R g /It remains constant throughout the range.
(b) 3fF® IR HH H Tl Wil 3/1t suddenly jumps to a higher value.
(c) omM® fg AF # =i ot € R iR R ¥ Tedl §

It drops sharply to a low value and then gradually increases.
(d) @il @GgR SRl 8/1t exhibits oscillatory behavior.

Options :
1.a
2.b

3.cC
4.d

Question Number : 53 Question Id : 7715134428 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

WHdRH, #Ued ®d & v Afdm-wie g geak gor IHiau & Sl 8l v
= (U, Ux) N1 G0 01 T 2D Walg &F W fGaR &% el U @R g1 Y% o yfiea
© T3

For a non-viscous, incompressible fluid, the Navier-Stokes equation reduces to the Euler

equation. Consider a 2D flow field given by v = (U, Ux), where U is a constant. What is
the vorticity o of the flow?

(@) 0 (b) U () -U (d) 2U

Options:
1.a
2.b
3.C
4.d

Question Number : 53 Question Id : 7715134428 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WHARH, ied Wd & v Afdm-wiw gHio geak gor JHiasu & ol 8l v
= (U, Ux) N1 G0 T T 2D WG &F W fGaR &% el U @R 81 Ua® o yfbea
© T3

For a non-viscous, incompressible fluid, the Navier-Stokes equation reduces to the Euler

equation. Consider a 2D flow field given by v = (U, Ux), where U is a constant. What is
the vorticity o of the flow?

(a 0 (b) U (c) -U (d) 2U
Options :
1.a
2.b
3.cC
4.d

Question Number : 54 Question Id : 7715134429 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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T did 99 WA & HW &9 W8 H R Wed U |3, saiden e
Tiers 1 Sy UG ¥R e & o @A . gl

In the case of flow over a heated flat plate, if the Prandtl number is 1, the ratio between the
hydrodynamic boundary layer thickness and thermal boundary layer thickness is;

(@) <l
(b) >l
(c) 0
@ I
Options :
1.a
2.b
3.C
4.d

Question Number : 54 Question Id : 7715134429 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U@ MG 99 WA & $W &9 WE H R e UeT |3, salen whd &
HieTs T S UG §R ACE & 99 B A gl

Inthe case of flow over a heated flat plate, if the Prandtl number is 1, the ratio between the
hydrodynamic boundary layer thickness and thermal boundary layer thickness is;

<l

Options :
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134430 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

IR A Wed! @ WHd JEdid (VI) A T T €1 Hed A: 20, Wb B: 40, Hed
C: 100, Wg® D: 1401 AUHHl & AUE o § ¥ed AR §gd dH-4 5

Viscosity index (VI) of four different lubricants are given below. Lubricant A: 20,
Lubricant B: 40, Lubricant C: 100, Lubricant D: 140. Which is the most stable [ubricant
over a wide range of temperatures

(a) WgP A/Lubricant A (b) Wgd D/Lubricant D
(c) Wed C/Lubricant C (d) VI ¥ WA/ Independent of VI

Options:
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134430 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

IR fafim @eal @ WHd F@adid (Vi) i U T 81 Hed A: 20, Hed B: 40, Hed
C: 100, We® D: 1401 AWHH & UG o § T4 BR Wgd dH-41 &l

Viscosity index (VI) of four different lubricants are given below. Lubricant A: 20,
Lubricant B: 40, Lubricant C: 100, Lubricant D: 140. Which is the most stable lubricant
over a wide range of temperatures

(a) WEP A/Lubricant A (b) Wed D/Lubricant D
(c) Wed C/Lubricant C OR%E] ¥4/ Independent of VI

Options :
1.a
2.b
3.C
4.d

Question Number : 56 Question Id : 7715134431 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

SK W oW, okid sfaRky ¥, fafeoll Swicw Ao & fou Swwel # W feu
WM Hdeo! of 3fd 9 a0 ® T o

Why are sensors used in satellites for measuring the radiative heat transfer from cold dark
space at 5K kept at very low temperatures?

Yded @I Wik @ & fU/to protect the sensor

Uded T AU 39 &9 &1 & feU/to reduce the heat loss from sensor
Uded @1 oG FAHd $H & KT/ to ensure life of sensor

W 4 U $is ft T8l/none of the above

Question Number : 56 Question Id : 7715134431 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SK W W, okid faRky ¥, fafeoll Swicw A & fow Swwel # W fee
WM Hdeo! ol 3fd 9 a0 ® T v o g

Why are sensors used in satellites for measuring the radiative heat transfer from cold dark
space at SK kept at very low temperatures?

Uded o QW& W& & fU/to protect the sensor

Uded U 0 39 &9 I3 & folU/to reduce the heat loss from sensor
Udes &1 A1 GHAT 3 & [/to ensure life of sensor

Gmifﬁ 03 Ebalﬁ i 9gl/none of the above

C

(a
(b
(

(d

)
)
)
)

Options :
1.a
2.b
3.C
4.d

Question Number : 57 Question Id : 7715134432 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

I URYSdl F9H Q6 § foR9dl dd ®REH H Sl ®ORT &34 @1 ol § TR
SR Wiyl B YUHS 7§ T AR

In a factory specializing in the production of high-precision machine parts, why a laser
hardening process be preferred over flame hardening?

(3) IW FoRW, THR IRV T & &
Laser hardening offers a deeper hardening depth.
(b) TR HERW Bl JyEd BT qu WS A o ¥l §
Laser hardening can be precisely controlled and localized.
(c) el FBRW, drg uiged & R SWH T 8
Flame hardening is not suitable for ferrous metals.

(d) TR HoRW, T I URHAT B

Laser hardening is a faster process

Options :
1.a
2.b
3.cC
4.d

Question Number : 57 Question Id : 7715134432 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Jd IR AL Gol § ORI ad BREH H Sl ®oRd B4 @1 godl H der
®HORA Uishal B UiEhar @l § o A

In a factory specializing in the production of high-precision machine parts, why a laser
hardening process be preferred over flame hardening?

(a) W Fokw, TR FORM TS ol @
Laser hardening offers a deeper hardening depth.
(b) W R B FyEd AR qu WIS A O THal ¢
Laser hardening can be precisely controlled and localized.
(c) wam Horv, W urge & o SwgEd T ¥
Flame hardening is not suitable for ferrous metals.

(d) TR FERU, T o9 UGB @

Laser hardening is a faster process

Options :
1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715134433 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0.33000001311302185
WG wied e gg gerd & Wiy A & i 6 wiew @1y e o
87

Which test is used to measure a material's resistance to localized plastic deformation?

(a) ifc e/ Fatigue testing
(b) Widrd THET/ Impact testing
(c) @aRar WiEw/Hardness testing
(d) T U/ Tensile testing
Options:
1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715134433 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WG @i G 5g wel & WY T & U 59 wleer &1 wa B S

27

Which test is used to measure a material's resistance to localized plastic deformation?

(a) 4ifc T/ Fatigue testing
(b) fceTd TRieO/ Impact testing
(c) @oRd Tdem/ Hardness testing
(d) T e/ Tensile testing
Options :
1.a
2.b
3.c

4.d

Question Number : 59 Question Id : 7715134434 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

YR 7 F gd 99 baiafy o1 3w ... & U foar & gl

Quick return mechanism is used in a shaper machine for;

(a) ¥Uif Tid/Rotary motion
(b) WAPFTHAT TIfd/Reciprocating motion
(c) guff ¥ WAFMEHT 7Ifd/Rotary to reciprocating motion

(d) Gﬂﬁfﬂ b= g Ebal'a'F vl 9gl/None of the above


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Question Number : 59 Question Id : 7715134434 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

YW 7H F gd a9 fobarfafy &1 gwan L. & fau foar & gl

Quick return mechanism is used in a shaper machine for;

(a) ¥Uif 7fd/Rotary motion
(b) UANHAT Tfd/Reciprocating motion

(c) 9ulf ¥ WARMHT 7Ifd/Rotary to reciprocating motion
(d) Gﬂ’iﬂﬂ g Ebal'aF Hl -8l/None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 60 Question Id : 7715134435 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

facgad fauoH 7eiFa & Fofafed # @9 Sdwiel & ®9 d I oy o &2

Which of the following is used as electrodes in electro discharge machining?

(a) Uidd T didl/Brass and copper

(b) H@ U1 UG/ steel and aluminum

(c) S¥M YUl eReA PIaizs/Steel and tungsten carbide
(d) Iudad THi/All of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 60 Question Id : 7715134435 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

faqga fagsit e & Fafafed # f6d sdwis! & 0 d 9w feu o 82

Which of the following is used as electrodes in electro discharge machining?

a) didd Tul GiaT/Brass and copper

(

(b) IHM U1 U/ steel and aluminum

(c) SWM YUl eReA PIsizs/Steel and tungsten carbide
(d) W T/ All of the above

Options :
1.a
2.b
3.C
4.d

Aptitude Test

PartlI

GET IT ON
Google Play

Question Number : 61 Question Id : 7715134436 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0

e fo &1 dd 9 70 9 8/To which group does the following figure belong?

A A

N
3.8

-

1": '!r"fm'“’. \ @

Ve
"Wy )." 2\ §

GroupB ﬁ“r .“r Ql' "" 1“.
PN N ".‘h )‘. P\

HIA

B

(c) & TGl g/ Neither A or B
(d) I T/AL of the above

(a

Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 61 Question Id : 7715134436 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addai247

fafafad 7 &1 9dY 58 70 9 §/To which group does the following figure belong?

8

Ny | e | e | e | e
L 04040845040
Group A » ' |" 219 [
Groupt 1“? .‘ﬂ#"h FIL be
MN | N | N | 2 | N
(a) P/A
(b) @B
(c) U@ THI T8 Neither A or B
(d) ITYeR VAL of the above
Options
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 62 Question Id : 7715134437 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

& HfiareTPdl & T H U0 951 g Ui HSR 7§ H B Fd YA U SUMTHIT 10D U SR
W%ﬁiaﬁlﬁﬂmﬁamﬁ AR AU GHM | iR St a1 ol | U8 e T o FeTl Tl
SECEUI

While working as a greeter at a large home improvement box store, a customer approaches you
and says that the customer service 15 horrible, and they will never shop at this store agamn. What 1s
the best thing to say to the customer?

() OTY TE D o o%d WA BiH o aldlg 1Y 39 TR H JyriHd TR a6 36 ¢
Tell them 1t 13 a busy tume and that you are doing the best you can under the
circumstances.

(b) TTE® T &M AITd 5U IR o5 3 Aled G H aa we e
Apologize to the customer and ask them what 1t 1s about the customer service that they

found horrible.

(c) b §X 3Hd ob feTL &1 HivTd GU DTl H ST Gl § [ob STl IR U] Tgl g
3Hd W T
Tell them you are sorry they had a bad experience, and you hope their next visit 1s more
enjoyable.

(d) &G TGP Yal MG o T 4FTHITHT AR SIS FHIET B fe0 SRy B
Apologize for the poor customer service experience and ask them to leave an online
review.

Options:
1.a
2.b
3.C
4.d

Question Number : 62 Question Id : 7715134437 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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Addal2i7

& HfiareTPdl & T H U0 951 g Ui HSR 7§ H B Fd YA U SUMTHIT 10D U SR
W%ﬁiaﬁlﬁﬂmﬁamﬁ AR AU GHM | iR St a1 ol | U8 e T o FeTl Tl
SECEUI

While working as a greeter at a large home improvement box store, a customer approaches you
and says that the customer service 15 horrible, and they will never shop at this store agamn. What 1s
the best thing to say to the customer?

() OTY TE D o o%d WA BiH o aldlg 1Y 39 TR H JyriHd TR a6 36 ¢
Tell them 1t 13 a busy tume and that you are doing the best you can under the
circumstances.

(b) TTE® T &M AITd 5U IR o5 3 Aled G H aa we e
Apologize to the customer and ask them what 1t 1s about the customer service that they

found horrible.

(c) b §X 3Hd ob feTL &1 HivTd GU DTl H ST Gl § [ob STl IR U] Tgl g
3Hd W T
Tell them you are sorry they had a bad experience, and you hope their next visit 1s more
enjoyable.

(d) T TG YT NG o FeTg &1 HITHT SR SIS GHIET & FoTT SRy S|
Apologize for the poor customer service experience and ask them to leave an online
review.

Options:
1.a
2.b
3.C
4.d

Question Number : 63 Question Id : 7715134438 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Ugsl: Jd/PETAL: FLOWER

(a) ©dH: DI/ Pen: Paper
(b) $9H: PR/Engine: Car
(c) fdceit: @I/ Cat: Dog
(d) did: Wd/Ball: Game

Options :

1.a

2.b

3.cC

4.d

Question Number : 63 Question Id : 7715134438 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

Correct Marks : 1 Wrong Marks : 0

Ugs!: Hal/PETAL: FLOWER

(a) cH: DI/ Pen: Paper
(b) F9: ®R/Engine: Car
(c) faeedt Pl/Cat: Dog
(d) &id : Wad/Ball: Game

Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 64 Question Id : 7715134439 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0

fgdta oy TS ® GRF U9@ I § &9 375,000 ARG AR T AR WE I9 &
YR 90 @ B9 408,000 YAl GG AR U S HidSl & YR W g 5 e
o gadl @ & Rl fy weHg & dvF TRe 9@ § gorlt e ey § TRe gl
W ¥ 95 ol Waedd el ¥l HeR T 9w Feed @ fGuni o Fafred |
9 WEd ¥ H o0 ol 8

During the Second World War, about 375,000 civilians died in the United States and about
408,000 members of the United States armed forces died overseas. On the basis of those figures,
it can be concluded that it was not much more dangerous to be overseas in the armed forces
during the Second World War than it was to stay at home as a civilian. Which of the following
would reveal most clearly the absurdity of the conclusion drawn above?

(a) fdC ¥ VARG e 90 & Ha Y@l & Sfcldl Ug9q Wod H YR I 99
& Td Yedl & P
Counting deaths among members of the armed forces who served in the United State in
addition to deaths among members of the armed forces serving overseas.

(b) RS U1 WA T4 b Fo@ H bl B Y& & 49 B AR 3 Fa 5g
der & yliwd & ®U H e Bl
Expressing the difference between the numbers of deaths among civilians and members

of the armed forces as a percentage of the total number of deaths.

() URe a0 H Ya & GRH Guelell & ®RU g5 G @I, el b oRH ol ol
& BRU §5 9 U e Bl
Separating deaths caused by accidents during service in the armed forces from deaths
caused by combat injuries.

(d) Jo®! Bt $q YOI B g B & 9o T4 0 & guR Todl & 0g
CARGEINGZE]
Comparing death rates per thousand members of each group rather than comparing
total numbers of deaths.


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

Options:

1.a
2.b
3.C
4.d

GET IT ON
Google Play

Question Number : 64 Question Id : 7715134439 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0

fgdta oy 7RIS & SRF Y96 U H B9 375,000 ARG AR T IR WgEd I &
YIRE d¢ & PG 408,000 Yl TG AR M| I bl & YR W Ig 5y Fren
o wad ¢ & Rl fy wes & dRF e §9 § ol o wew § TR gl
1 U 9gd Wl Waeld el U1l Mo T 9w ey @ fowd @ Feliied |
T Wl ¥ BH o ol 62

During the Second World War, about 375,000 civilians died in the United States and about
408,000 members of the United States armed forces died overseas. On the basis of those figures,
it can be concluded that it was not much more dangerous to be overseas in the armed forces
during the Second World War than it was to stay at home as a civilian. Which of the following
would reveal most clearly the absurdity of the conclusion drawn above?

(a) oW ¥ YdRd WA 90 & d Yol & ofcldl $gad Uod H YaRd I T
& Id el i A

Counting deaths among members of the armed forces who served in the United State in
addition to deaths among members of the armed forces serving overseas.

(b) RS U1 WA T4 b Go@ H Hd! DI G & Al B HR 3§ 4G
der & uliwd & ®U H e Bl
Expressing the difference between the numbers of deaths among civilians and members

of the armed forces as a percentage of the total number of deaths.

() WRd 9 H Yo & GRM Guclell & HRY §3 9 @I, S b GRH oFl oAl
& BRU T3 Y G T B
Separating deaths caused by accidents during service in the armed forces from deaths
caused by combat injuries.

(d) Td@! B B YOI B qo B & aIl TS JU & guR 9ol & g @
CARGREINGRE]
Comparing death rates per thousand members of each group rather than comparing
total numbers of deaths.

Options :
1.a
2.b

3.¢C
4.d


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 65 Question Id : 7715134440 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0

frfafad fadmedl § ¥ ‘EXODUS’ et @1 faaiim Weg T
Choose one of the following options that means the opposite of the word EXODUS

(a) Influx (b) Home-coming (¢) Retum  (d) Restoration

Options :
1.a
2.b
3.c
4.d

Question Number : 65 Question Id : 7715134440 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

fafeiad fadedl § 9 <EXODUS’ Wsq &1 faciiam sg gFE:
Choose one of the following options that means the opposite of the word EXODUS

(a) Influx (b) Home-coming (¢) Retum  (d) Restoration

Options :
1.a
2.b
3.C
4.d

Question Number : 66 Question Id : 7715134441 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Elated, despondent & feru al E?f 9l enli ghtened ...... & ﬁIU, % |

Elated 1s to despondent as enlightened 1s to .......

(a) Aware (b) Ignorant (c) Miserable (d) Tolerant

Options:
1.a
2.b
3.c
4.d

Question Number : 66 Question Id : 7715134441 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0

Elated, despondent & feru al E?f 9l enli ghtened ...... & ﬁﬂt{ % |

Elated 1s to despondent as enlightened 1s to

(a) Aware (b) Ignorant (c) Miserable (d) Tolerant

Options :
1.a
2.b
3.c
4.d

Question Number : 67 Question Id : 7715134442 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

yy forg ol FAafafad | 9 o ufawiitd sem

Which one will replace the question mark?

15 31 ?

27 26 81

(a) 45 (b) 41 () 32 (d) 40

Options :
1.a
2.b
3.c
4.d

Question Number : 67 Question Id : 7715134442 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
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Uy fog &1 Fafafad 9 9 oF ufawnfid sum

Which one will replace the question mark?

3 6 9
éls %31 %?
27 20 81

(a) 45 (b) 41 (c) 32 (d) 40

Options:
1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715134443 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

feu e & oifd iR A fu ez i swar -
In which direction does the gear labelled A rotate?

(a) USIDI YTl B do- DI fG= HiClockwise

(b) 95! &I g4l & 9o D faudid fe=m H/Counter-clockwise
(c) guld =gl BdI/No rotation

(d) A 3R B &I &f Tal/Neither A nor B

Options:
1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715134443 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0

feu e & oifd iR A fu e i swar .
In which direction does the gear labelled A rotate?

(a) USIDI YTl B do- DI fG= HiClockwise
(b) 95! &I g4l & 9o D faudid fe=m H/Counter-clockwise
(c) guld =gl BdI/No rotation
(d) A 3R B &I &f Tal/Neither A nor B
Options:
1.a
2.b
3.C

4.d

Question Number : 69 Question Id : 7715134444 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

feR ¥ @8l Ted o duEE ¥ uRadd ghil? (@ S ARl B dl () B 99 Be)

Where is the temperature change the highest throughout the day? (If no difference, choose (c))

A

% B
N

Water

(8 A (b) B ( (d) Ol A 3R AT 8/Where Aand B met

Options:
1.a
2.b
3.c
4.d
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Question Number : 69 Question Id : 7715134444 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0

feT R ¥ wel el e aueH § uRadd grfl? [@fg SR 8l B dl (¢) BT 9 Bi)

Where is the temperature change the highest throughout the day? (If no difference, choose (c))

i
Smi<——~_ B
<

Water

(a) A (b) B ) C (d) & A 3R 8 T B/Where Aand B met

Options :
1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715134445 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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T0 @ 0 Wded UG W UG TeHd g5 ¢l HUb U YedHl HUS] i UG W
9 §H T US! U 5 & IRU SHUS] H UG U FI6T HSAH g1 AT DHIIA!
T 9 He TR F WY O Bedl ¢ IR Wied & U H AP e To Bt Taw
IUgE idishar I §?

You have recently been promoted to a supervisory position. One of your employees, Amanda,
has become very bitter towards you since you were promoted, and she wasn't. She is talking

had about you to other employees and is trying to undermine you as a supervisor. What is the
least appropriate response?

(a)

(b)

(c)

(d)

A Fidea whye @1 qaiw 6 Mg g o € W ar # o Bar @ 2

Tell my immediate supervisor about the way Amanda has been talking about me

g ¥ fefl IR W 90 B & A T CE-T § AR B! DRl ¥
3T F Hegy 9 T © aul URRT @i gemml

Speak privately with Amanda, explain what you have observed and how her actions
make you feel, and try to resolve the situation.

ﬁ@ﬂwa{ﬁmmﬂmﬁﬂmaﬂﬁgmwaﬁwwﬁ-ﬁa
|

Send a company email asking everyone to be kind and not spread gossip.

HATST & dR § 39 HHANGl ¥ [ $g AR S Be & d A0S I a1l R
7H 7 2l
Speak poorly of Amanda to the other employees and tell them why they shouldn't listen
to Amanda.

Options:

1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 70 Question Id : 7715134445 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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T0 @ 0 Wded UG W UG TeHd g5 ¢l HUb U YedHl HUS] i UG W
9 §H T US! U 5 & IRU SHUS] H UG U FI6T HSAH g1 AT DHIIA!
T 9 He TR F WY O Bedl ¢ IR Wied & U H AP e To Bt Taw
IUgE idishar I §?

You have recently been promoted to a supervisory position. One of your employees, Amanda,
has become very bitter towards you since you were promoted, and she wasn't. She is talking

had about you to other employees and is trying to undermine you as a supervisor. What is the
least appropriate response?

(a) o fFidean Widy® 31 TaI & 3mveT fg g ¥ W X ¥ &1d ar w8

Tell my immediate supervisor about the way Amanda has been talking about me

(b) Ul ¥ PRl dR W 910 B¢ b 0 F cE-gA AR ol draRdl U
3T F Hegy 9 T © aul URRT @i gemml
Speak privately with Amanda, explain what you have observed and how her actions
make you feel, and try to resolve the situation.

() ﬁ@lﬂwaﬁaﬁw{wﬂmﬁﬂﬂfmaﬂﬁ@mﬁaﬁwwﬁ-ﬁa
|

Send a company email asking everyone to be kind and not spread gossip.

(d) 3ATST & R ¥ Y HHANGl ¥ T P AR S Be & d A0S I a1l R
7H 7 2l
Speak poorly of Amanda to the other employees and tell them why they shouldn't listen
to Amanda.

Options:
1.a
2.b
3.¢
4.d

Part 11
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Question Number : 71 Question Id : 7715134446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

13,17, 19, 23, 29, ...... @I 4Gl § 3T G&I 1 gHI digu?

What will be the next number in the series 13, 17, 19, 23, 29, .......7
(a) 31 (b) 33 (c) 35 (d) 37

Options :
1.a
2.b
3.c
4.d

Question Number : 71 Question Id : 7715134446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
13,17, 19, 23, 29, ...... @ 4G § 3T G& 1 gHI Afgu?

What will be the next number in the series 13, 17, 19, 23, 29, .......7
(a) 31 (b) 33 (c) 35 (d) 37

Options :
1.a
2.b
3.C
4.d

Question Number : 72 Question Id : 7715134447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DY/ Statements:
Tt 3r=s ﬁ@?ﬂ_&ﬁ EIGG| %HAII good athletes win.
Tl 3r=s ﬁ@?ﬂ_&pl WHT 3 Wrd B /All good athletes eat well.
f%6Y / Conclusions:
(i) WMl 51 @Hard o, s faars! gid g
All those who eat well are good athletes.

(i)  ©ildd 9l 94, @I =¥ Wd & /All those who win eat well

(a) C R (i) Tel %’;’Dnly conclusion (i) follows
(b) @&ad %Y (i) Tel &/0nly conclusion (i) follows
(c) (i) T (ii), Wl &/Either (i) or (ii) follows

(d) (i) 41 (i), GHET Fal &l 8/Neither (i) nor (ii) follows


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Question Number : 72 Question Id : 7715134447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@Y/ Statements:

il =8 ﬁ@?ﬂ_&ﬁ oiad %HAII good athletes win.

Tt 3wy ﬁ@?ﬂ_&ﬁ T 3= Wid g/All good athletes eat well.
f%pY/ Conclusions:

(i) Ml 331 WHad 9l, 3rd f@arst gid gl
All those who eat well are good athletes.

(i)  ©igd drd T4, WHT =81 Wid & /All those who win eat well

(a) ad Py (i) Gl %fﬂnly conclusion (i) follows
(b) wad =Py (i) TSl §/Only conclusion (i) follows
(c) (i) T (ii), TEl §/Either (i) or (ii) follows
(d) (i) T (ii), GHI Wl &l &/ Neither (i) nor (ii) follows
Options:
1.a
2.b
3.c
4.d

Question Number : 73 Question Id : 7715134448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T § 499 $19-91 8/'Which figure 1s odd one out?

U I

1 0 mp [
A B C D E

(@) A (b) B (c) C (d D

Options :

—
(-
-

1.a
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2.b
3.C
4.d

Question Number : 73 Question Id : 7715134448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o o a8 B19-91 8/'Which figure 1s odd one out?

| u | == E
LI ‘ =
10 o [ =
A B C D E
@ A (b) B (¢ C (d D

Options:
1.a
2.b
3.c
4.d

Question Number : 74 Question Id : 7715134449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1,2,3,10, -- @I Ja@a # STl Y& @ il difgu?

Which number should come next in the series 1, 2, 3,10,
(a) 79 (b) 99 {c) 89 (d) 98
Options :
1.a
2.b

3.¢C
4.d

Question Number : 74 Question Id : 7715134449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
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1,2,3,10, —— @I g@a1 ¥ Tl T & gl aifee

Which number should come next in the series 1, 2, 3,10,
(a) 79 (b) 99 (c) 89 (d) 98

Options:
1.a
2.b
3.C
4.d

Question Number : 75 Question Id : 7715134450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@Y/ Statements:
L) YA A BRI B 3/Some dedicated souls are angels.
gl 99 Had B Eﬂ?l E"mu social workers are angels.

ﬁTﬂTEfIConclusions:
(i) L] Aftg HAW, IO G Eﬁ?l %fSOme dedicated souls are social
workers.

(i) P9 T Y9& AT ST Bl §/Some social workers are dedicated souls

(a) &g fry (i) Tl %fﬂnly conclusion (i) follows
(b) Pad FsEY (i) Tl &/Only eonclusion (ii) follows
(c) () &I (ii), ! &/Either (i) or (ii) follows

(d) (i) @ (i), G W T 8/ Neither (i) nor (ii) follows

Options :
1.a
2.b
3.C
4.d

Question Number : 75 Question Id : 7715134450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
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@Y/ Statements:

P8 YAMUd HHT BRI 8ld §/Some dedicated souls are angels.
gyl 999 Udd BRI Eﬂﬂ ngII social workers are angels.

ﬁwmonclus]ons:
(i) L) At AN, IO i) Eﬁ?l ?,’SOme dedicated souls are social
workers.

(ii) P HHM Yadh gHidd HITd Eﬁ ?fSDme social workers are dedicated souls

(a) aq Ty (i) el %;’Only conclusion (i) follows
(b) dad FBY (i) T &/0nly eonclusion (ii) follows
(c) (i) I (i), Wl /Either (i) or (ii) follows

(d) (i) 31 (i), GHI GE T §/Neither (i) nor (ii) follows

Options:
1.a
2.b
3.C
4.d

Descriptive
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Question Number : 76 Question Id : 7715134451 Question Type : SUBJECTIVE Consider As

Subjective : Yes
Correct Marks : 5

W e plaand, dF el # omite gi i A B fAegd-ditie g gl
W W & I8 R W I @ e o O Ry el § dder el @
Ry foar o wddl 51 Fufiied i § @ W W o) daw-f i g, aun i
o a, b, 70 ¢ B T4 F il e a1, IfE @1 SMSeqE WeN Sl W@ SN &
R g %@ T 8 fF ca= 1000 pie, €b= 2000 pe, T ec= 4000 pel T FHR weal,
€X, gy, EXy @I URDeH B

A rosette strain gauge is an electromechanical device that can measure relative surface
elongations in three directions. Bonding such a device to the surface of a structure allows
the determination of elongational strains in particular directions. A schematic of one such
gauge is shown in the following figure, and the output of the device will provide data on the
strains along the gauge arms a, b, and c. During one application, it is found that ga= 1000

ue, eb= 2000 pe, and ec= 4000 ps. Calculate the surface strain components £x, gy, exy.

Question Number : 76 Question Id : 7715134451 Question Type : SUBJECTIVE Consider As

Subjective : Yes
Correct Marks : 5
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W e plaand, dF el # omite gi i A B fAegd-ditie g gl
W W & I8 R W I @ e o O Ry el § dder el @
Ry foar o wddl 51 Fufiied i § @ W W o) daw-f i g, aun i
o a, b, 70 ¢ B T4 F il e a1, IfE @1 SMSeqE WeN Sl W@ SN &
R g %@ T 8 fF ca= 1000 pie, €b= 2000 pe, T ec= 4000 pel T FHR weal,
€X, gy, EXy @I URDeH B

A rosette strain gauge is an electromechanical device that can measure relative surface
elongations in three directions. Bonding such a device to the surface of a structure allows
the determination of elongational strains in particular directions. A schematic of one such
gauge is shown in the following figure, and the output of the device will provide data on the
strains along the gauge arms a, b, and c. During one application, it is found that a= 1000

ue, sb= 2000 pe, and ec= 4000 ps. Calculate the surface strain components £x, &y, exy.
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Question Number : 77 Question Id : 7715134452 Question Type : SUBJECTIVE Consider As

Subjective : Yes
Correct Marks : 5


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

foA & U 3OR TR 4R & 6 WOUR RGeS AB @1 ¥l (a)A W e @
AR B, (b) TORY T & THRU [P, (c)A R B @ FURT &1 (T8 Jic B
f fHRUGd, Ued @it R Widdba: AR §)

Consider the uniform beam AB under distributed load as shown in the figure (a) determine
the reaction at A, (b) derive the equation of the elastic curve, (c) determine the slope at A.
(Note that the beam is statically indeterminate to the first degree. )

T 1T 7T 7YY YT YTYYT TN

A
—

Y)’Q"?’/

Question Number : 77 Question Id : 7715134452 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

for & U oFER faRu 4R & 3 tHUR fRUs AB @ ¢l (a)A R 3w &
AR B, (b) IO T & T [P, (c)A T e & FURT &1 (@8 i B
f TR, Ued @it W Widdba: AHET §)

Consider the uniform beam AB under distributed load as shown in the figure (a) determine
the reaction at A, (b) derive the equation of the elastic curve, (c) determine the slope at A.
(Note that the beam is statically indeterminate to the first degree. )

T 1V T T YT YY YT

A
—

YJQV?X

Question Number : 78 Question Id : 7715134453 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
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U6 39 MOdOR R & 719 B = 132 fieffiex au oy oRwfea &7 A= 1000
i firefielieR au TeRIS h=24 Miclidie €1 IR URwe ) dsd aul JaRiH HE & di
P gl ‘e’ @ FURT B AH o b 90 W g W 9@ Aol 2000N.m €, HHaH qul
U-dH yigd & IR B (In 1.0=0, Inl.1=0.095, In 1.2=0.182, In 1.3=0.262, In
1.4=0.336)

A curved rectangular bar has a mean radius r’ = 132 mm and a cross section of area A =
1000 Square mm and depth h = 24 mm. Determine the distance ‘e’ between the centroid and

the neutral axis of the cross section. Assuming that bending moment acting on it is 2000N.m,
calculate the maximum and minimum stress.
(In 1.0=0, In1.1=0.095, In 1.2=0.182, In 1.3=0.262, In 1.4=0.336)

Question Number : 78 Question Id : 7715134453 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

U6 39 AOAOR R & 919 B = 132 fefifier qu oy uRwfiid &7 A= 1000
i firefielier qor TeRES h=24 Wil €1 R URwe ol dsd aul IeRiA Ay & di
PGl ‘e’ @ FURT B AH o b 99 W g I 9% Al 2000N.m €, HHaH qul
A Wded @& UReed @4 (In 1.0=0, Inl.1=0.095, In 1.2=0.182, In 1.3=0.262, In
1.4=0.336)

A curved rectangular bar has a mean radius r’ = 132 mm and a cross section of area A =
1000 Square mm and depth h = 24 mm. Determine the distance ‘e’ between the centroid and
the neutral axis of the cross section. Assuming that bending moment acting on it is 2000N.m,
calculate the maximum and minimum stress.

(In 1.0=0, In1.1=0.095, In 1.2=0.182, In 1.3=0.262, In 1.4=0.336)

Question Number : 79 Question Id : 7715134454 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

& IR URwE 20x20 iR & WY Th 1.6 HieR dal, Tde-U ol sl Fies 1.0
iR § W fdaR &Y 3R AEd-S0 &1 10° 9 Hd fbar o g, d WRwie grI
ggd U JIHar UedH da gu & YR @8 e 99 gl @ 9H W
B TH HUEU Yided FI E? Ve 31 G=80 GPa

Consider a thin walled 1.6 m long tube with square cross section 20x20 mm having wall
thickness of 1.0mm. Determine the maximum torque which can be carried by the section if
angle of twist is limited to 10°. What will be the maximum shear stress when this maximum
torque is applied? Material with G= 80 GPa

Question Number : 79 Question Id : 7715134454 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
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& ofuR U 20x20 iR & WY T 1.6 Hiex dal, Uae-d ol ol Al 1.0
fiefieieR § W fdaR @Y1 PR SGdA-aW 1 10° dd WiHd fbar o g, @ Rwe R
ge fou SHaren sfiddd 9a ol &1 Rk &Y sfied §d gl I 9H ®
SR YU Yidea q1 B Uard P G= 80 GPa

Consider a thin walled 1.6 m long tube with square cross section 20x20 mm having wall
thickness of 1.0mm. Determine the maximum torque which can be carried by the section if
angle of twist is limited to 10°. What will be the maximum shear stress when this maximum
torque is applied? Material with G= 80 GPa

Question Number : 80 Question Id : 7715134455 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

duig Rfder & fau iq & dfieRw qu WS $0 3 @les eighy @1 HeRo @)
fafiet @1 somEM, 100 famm & 9 J9@ uRyEw B, 0.1 dX B figA @ R
200N 8l Tod @RV = 10 m/s2 JTG Tl

N
D;=02m; D, =04m; K; = 800£; K5 =1000 N/m

Determine the equation of motion and natural frequency of torsional vibration for the
stepped cylinder. Mass of the cylinder is 100 kg and its radius of gyration is 0.1 m. Weight
of body A is 200 N, Take acceleration due to gravity = 10 m/s2. Also

N
Dy =02m; Dy = 04m; Ky =800 —; K, = 1000N/m

Question Number : 80 Question Id : 7715134455 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
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Addal@7

duig Rfder & fau iq & dfieRw qu WS $0 3 @les eighy @1 HeRo @)
fafiet @1 somEM, 100 famm & 9 J9@ uRyEw B, 0.1 dX B figA @ R
200N 8l Tod @RV = 10 m/s2 JTG Tl

N
Dy = 0.2m; D, = 0:4m; Ky = 800—; Ky = 1000 N/m

Determine the equation of motion and natural frequency of torsional vibration for the
stepped cylinder. Mass of the cylinder is 100 kg and its radius of gyration is 0.1 m. Weight
of body A is 200 N, Take acceleration due to gravity = 10 m/s2. Also

N
Dy =02m; Dy = 04m; Ky =800 —; K, = 1000N/m
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